
SAVARANKIŠKAI:  

 

1.  ∫
sin (1−5𝑥)

cos2(1−5𝑥)
𝑑𝑥  

 

2. ∫
𝑑𝑥

e10𝑥−3 

 

3. ∫
sin (7𝑥)

3+2cos2(7𝑥)
𝑑𝑥 

 

4. ∫
𝑑𝑥

(3+tg2(5𝑥))cos2 (5𝑥)
 

 

 

 

ATSAKYMAI 2-5 lape!!! 

 

 

 

 

 

 

 

 

 

 

 



 

 

1. ∫
sin (1−5𝑥)

cos2(1−5𝑥)
𝑑𝑥 = 

 

= [

𝑑(cos (1 − 5𝑥)) = −sin (1 − 5𝑥) ∙ (−5)𝑑𝑥

𝑑𝑥 =
𝑑(cos (1 − 5𝑥))

5sin (1 − 5𝑥)

] = 

 

= ∫
sin (1 − 5𝑥)

cos2(1 − 5𝑥)

𝑑(cos (1 − 5𝑥))

5sin (1 − 5𝑥)
= 

 

=
1

5
∫

𝑑(cos(1 − 5𝑥)) 

cos2(1 − 5𝑥)
= 

 

=
1

5
∫cos−2(1 − 5𝑥)𝑑(cos(1 − 5𝑥)) = 

 

=
1

5

cos−1(1 − 5𝑥)

−1
+ 𝐶 

 

 

 

 

 



 

 

2. ∫
𝑑𝑥

e10𝑥−3 = ∫e−10𝑥+3𝑑𝑥 = 

 

= [

𝑑(−10𝑥 + 3) = (−10)𝑑𝑥

𝑑𝑥 =
𝑑(−10𝑥 + 3)

(−10)

] = 

 

 

= ∫e−10𝑥+3
𝑑(−10𝑥 + 3)

(−10)
= 

=
1

(−10)
∫ e−10𝑥+3𝑑(−10𝑥 + 3) = 

 

=
1

(−10)
e−10𝑥+3 + 𝐶 

 

 

 

 

 

 

 

 



 

 

3. ∫
sin (7𝑥)

3+2cos2(7𝑥)
𝑑𝑥 = 

 

 

= [

𝑑(√2cos (7𝑥)) = (−7√2)sin (7𝑥)𝑑𝑥

𝑑𝑥 =
𝑑(√2cos (7𝑥))

(−7√2)sin (7𝑥)

] = 

 

= ∫
sin (7𝑥)

3 + 2cos2(7𝑥)

𝑑(√2cos (7𝑥))

(−7√2)sin (7𝑥)
= 

 

= −
1

7√2
∫

𝑑(√2cos (7𝑥))

(√3)
2
+ ((√2) cos(7𝑥))

2 = 

 

= −
1

7√2

1

√3
𝑎𝑟𝑐𝑡𝑔 (

√2 cos(7𝑥)

√3
) + 𝐶 

 

 

 

 

 



 

 

4. ∫
𝑑𝑥

(3+tg2(5𝑥))cos2 (5𝑥)
= 

 

=

[
 
 
 𝑑(𝑡𝑔(5𝑥)) =

5

cos2(5𝑥)
𝑑𝑥

𝑑𝑥 =
𝑑(𝑡𝑔(5𝑥))

5
∙ cos2(5𝑥)

]
 
 
 
= 

 

=
1

5
∫

𝑑(𝑡𝑔(5𝑥)) ∙ cos2(5𝑥)

(3 + tg2(5𝑥))cos2 (5𝑥)
= 

 

=
1

5
∫

𝑑(𝑡𝑔(5𝑥))

((√3)
2
+ tg2(5𝑥))

= 

 

=
1

5

1

√3
𝑎𝑟𝑐𝑡𝑔

𝑡𝑔(5𝑥)

√3
+ 𝐶 


